Statics Problem Solutions

1/1 Determine the angles made by the vector V = —36i + 15j with the positive x- and y-
axes. Write the unit vector n in the direction of V.

1/1 Determine the angles made by the vector V = —36i +
15j with the positive x- and y-axes. Write the unit vec-
tor n in the direction of V.
Ans. 0, = 157.4°, 0, = 67.4°
n = —0.9231 + 0.385j
Solution:
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This problem was solved by Civil Thinking (https://civilthinking.com)
If you need solutions for Statics/ Engineering Mechanics
or any other Civil Engineering subject, contact us at:
solutions@civilthinking.com

Or submit your problem directly here:

& https://civilthinking.com/getproblemsolutions

Other Subjects We Cover:

Structural Analysis

Fluid Mechanics

Geotechnical Engineering

Transportation Engineering

Construction Management

Finite Element Analysis (FEA)

Engineering Software (ANSYS, ETABS, MATLAB, Revit)
Let us help you solve your engineering challenges! £
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